> A
A & 0l & AF 2 E A A
20158 & =04 LEHSIH Dleis et
FAMN: DldisED
MY 4)|E2 SEHZE TH(SYHLLM/5Y - 5E)
ool WBASY =Y 23 CER-ED
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ol = ot 5,527,383 5,122,261 405,122
= 1,347,848
X 358,000
< 480,043
Al 3,341,492
AIES sEEZ X4 (sHdLrd/=s2 - &) 5,396,758 4,990,216 406,542
= 1,347,848
X 358,000
< 480,043
Al 3,210,867
sy &2l 25 1,140,347 1,219,749 AT9,402
= 220,688
X 53,000
= 147,150
Al 719,509
sHoHs2d 58,000 60,000 A 2,000
= 29,000
Al 29,000
201 £B-2dH| 15,000 16,000 A 1,000
= 7,500
Al 7,500
01 At 22l 15,000 16,000 A1,000
OoOsgots=d 15,000,000& 15,000
= 7,500
Al 7,500
202 044l 1,000 1,000 0
= 500
Al 500
01 2ol 1,000 1,000 0
Oosgells2y 1,000, 000& 1,000
= 500
Al 500
206 M= Hl 2,000 2,000 0
= 1,000
Al 1,000
01 =8l 2,000 2,000 0
Osgeolts2d 2,000,000& 2,000
= 1,000
Al 1,000
301 et a = 40,000 41,000 A1,000
= 20,000
Al 20,000
09 HALAHIE& S 16,000 16,000 0
Oosgelis2y 16,000, 000& 16,000
= 8,000
Al 8,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
11IIEtEA S 24,000 25,000 A 1,000
Oosgelis2dy 24,000,000& 24,000
= 12,000
Al 12,000
sSYUMZ (M)W= (=) 7,000 0 7,000
= 3,500
Al 3,500
201 Let24dy] 4,000 0 4,000
= 2,000
Al 2,000
01 At 22/l 4,000 0 4,000
ONdE=sIIsu=s 1,000,000 1,000
= 500
Al 500
OJx=ZsJzns 3,000,000& 3,000
= 1,500
Al 1,500
301 et A= 3,000 0 3,000
= 1,500
Al 1,500
MIEE43 3,000 0 3,000
ONdE=sIIz=u=s 1,000,000 1,000
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Al 500
OJx=ZsJIzns 2,000,000& 2,000
2 1,000
Al 1,000
SEII=XNEC8sKEA 7,300 0 7,300
= 3,650
Al 3,650
101 1Al 6,000 0 6,000
- 3,000
Al 3,000
4 JI2ZtHZ22HEE = 6,000 0 6,000
SENEAMLE2HEIH 6,000,000 6,000
- 3,000
Al 3,000
201 £B-2dH| 1,300 0 1,300
= 650
Al 650
01 At 22l 1,300 0 1,300
O=gLtatg s s 2Y 1,300, 000& 1,300
= 650
Al 650
NEZLAZHL(2H) 9,200 0 9,200
= 4,600
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M Didisgn
Hu: MIIES SEHY FH(SEHSSM/ S -
ool WBASY =Y 23 CER-ED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
Al 1,000
301 LetE = 19,600 26,000 26,400
2 9.800
Al 9,800
09 HALEHIE2& S 11,600 16,000 A4,400
OZ4s A2 & duEOt 2,000,000& 2,000
= 1,000
Al 1,000
OFars NFZ2E ALY 9,600,000& 9,600
= 4,800
Al 4,800
NIJI2d= 8,000 10,000 A2,000
OZd4s NEBZEAE 8,000,000& 8,000
= 4,000
Al 4,000
402 QI2tXt=01 ™ 26,400 0 26,400
= 13,200
Al 13,200
01 I HEAMHE X 26,400 0 26,400
OZAs SIE OIHE ZaAE
26,400,000 26,400
= 13,200
Al 13,200
215 KK ALY 13,650 0 13,650
= 5,480
S 2,470
Al 5,700
402 QI2tXt=01 & 13,650 0 13,650
= 5,480
£ 2,470
Al 5,700
01 et HEAMHEE 13,650 0 13,650
OFSE2E=R=PN DN BNR-| 13,650,000 13,650
= 5,480
& 2,470
Al 5,700
eI sLHEX=H 136,458 77,910 58,548
= 136,458
301 LetE = 136,458 0 136,458
= 136,458
NIJI2d= 136,458 0 136,458
OB sEAHEAEN 243 136,458,000 136,458
= 136,458
SIZsYUATS 4 8,000 0 8,000
= 4,000
Al 4,000
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= _ — d =
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201 Lt 4,000 0 4,000
= 2,000
Al 2,000
01 At 22l 4,000 0 4,000
0OF==sgeldIs =4 4,000,000& 4,000
= 2,000
Al 2,000
301 LAz 4,000 0 4,000
= 2,000
Al 2,000
09 EALEHIE &S 4,000 0 4,000
OZ=2=godIs 4 4,000,000& 4,000
= 2,000
Al 2,000
sZJ=8E 2N K& 12,000 5,000 7,000
= 6,000
Al 6,000
201 Zet24l 12,000 5,000 7,000
< 6,000
Al 6,000
01 At 2t 2l 12,000 5,000 7,000
O=g8JI=88 d2&M XA 12,000,000& 12,000
= 6,000
Al 6,000
MEH S A S F A 80,000 0 80,000
< 40,000
Al 40,000
402 RIZEX20l A 80,000 0 80,000
< 40,000
Al 40,000
01 A=A EX 80,000 0 80,000
OMEHsHAIEHSHREZH 80,000,000 80,000
= 40,000
Al 40,000
frdrs BSE dEsUsE AY 60,000 60,000 0
< 30,000
Al 30,000
402 RI2EX20| ™ 60,000 60,000 0
< 30,000
Al 30,000
01 B2t t=2 AP E X 60,000 60,000 0
0R+LAE M= FHAY AY
60,000, 000& 60,000
< 30,000
Al 30,000
Fllsd 80 JI3®"S K& 105,000 0 105,000
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< 30,000
Al 75,000
402 RIZFX20l ™ 105,000 0 105,000
< 30,000
Al 75,000
01 It =2 AL B X 105,000 0 105,000
ORJIsg dEsIt II8.R #
105,000, 000& 105,000
< 30,000
Al 75,000
NESRE s8N 12,400 8,000 4,400
< 6,200
Al 6,200
202 044l 12,400 8,000 4,400
< 6,200
Al 6,200
04 = H &t 8l 12,400 8,000 4,400
OXNEERd s8HE XA 12,400,000 12,400
< 6,200
Al 6,200
HEtd=sgy FEX BE=SXE 2,400 2,400 0
< 480
Al 1,920
201 Let24d] 2,400 2,400 0
< 480
Al 1,920
01 At 2teltl 2,400 2,400 0
CrEI=ZEHEXN 23X A 2,400,000& 2,400
< 480
Al 1,920
sy dEALEH 2d XE 12,000 20,000 A 8,000
< 6,000
Al 6,000
201 ¢4l 12,000 16,000 A 4,000
< 6,000
Al 6,000
01 At 2t 2l 12,000 16,000 A 4,000
OzZ=y FFALE XA 12,000, 000& 12,000
< 6,000
Al 6,000
=Hl&=2 SN & 60,000 0 60,000
402 RIZ2EXt201 A 60,000 0 60,000
02 BI2HCH & AF S HI 60,000 0 60,000
O=Hl&=E SAH XA 60,000, 000& 60,000
sgolagas 29 26,000 25,000 1,000
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AN Olisg
HE: M)ES SEHY ZH(STHYLN/5Y - 58)
ool WBASY =Y 23 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MIIEELES 20,000 20,000 0
orxsd=It SHASHEXNE 20,000,000 20,000
402 RI2HXt20l M 99,000 124,000 225,000
01 B2t t= AP E XL 99,000 124,000 A 25,000
oW z&zdy SHUS Yol 4
64,000, 000& 64,000
OHLBOIEHHMNERUSE dXXE
25,000,000 25,000
OHBHSUES MAS 2 FEAY
10,000, 000& 10,000
e sa2 ZEM g MG 15,000 0 15,000
402 RIZ2HXt20l ™ 15,000 0 15,000
01 ATt EAEEX 15,000 0 15,000
OrEd st T HE XA
15,000, 000& 15,000
Ed siE2 /RS UK 10,000 0 10,000
206 M= Hl 5,000 0 5,000
01 M= 4l 5,000 0 5,000
odadsitEs EE2NE MAE 5,000,000 5,000
402 RI2EXt20| ™ 5,000 0 5,000
01 A TtEAEEX 5,000 0 5,000
OZHOIX == & oHYW E&H X2
5,000,000 5,000
HEdsGARAEZLHAS 141,000 0 141,000
Xl 53,000
< 26,000
Al 62,000
402 RIZ2EXt20l 141,000 0 141,000
Xl 53,000
< 26,000
Al 62,000
01 A TtEAEEX 141,000 0 141,000
CrEI=IN AL AMH 141,000, 000& 141,000
Xl 53,000
< 26,000
Al 62,000
sgJIsHe 2 222 29 2,879,226 2,524,437 354,789
= 1,022,580
Xl 125,000
< 63,000
Al 1,668,646
Hetd=ss@AI)sNd-sHIl= 18,000 36,000 A 18,000
= 9,000
Al 9,000




FAMN: DldisED
o

Bu: M)ES SEHY ZH(SYHLLL/SY - SE)
S9l sellENY U BYRE 29 (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
101 2121 H] 18,000 12,000 6,000
= 9,000
Al 9,000
04 JI2ZtHIZ22NEE S 18,000 12,000 6,000
osgddA 29 18,000,000 18,000
= 9,000
Al 9,000
WSS ASAHEISH(Z2H|) 200,000 0 200,000
= 100,000
Al 100,000
401 Al HI L £ 0HHI 200,000 0 200,000
= 100,000
Al 100,000
01 Al& H| 200,000 0 200,000
Olstd=s AISAIEE AlE A&
200,000,000 200,000
= 100,000
Al 100,000
sZ=XNEHH XK (2H]) 50,000 0 50,000
N 25,000
Al 25,000
405 XHoHFE S HI 50,000 0 50,000
N 25,000
Al 25,000
01 A E B F S| 50,000 0 50,000
ONStASAIE s=XNE=HH 2L
50,000,000 50,000
Xl 25,000
Al 25,000
SI& "2 23X 1,374,010 1,126,954 247,056
= 647,580
& 63,000
Al 663,430
402 SI2F X0l & 1,374,010 1,126,954 247,056
= 647,580
& 63,000
Al 663,430
02 SI2HCH & AL HI 1,374,010 1,126,954 247,056
OKRJI&Ed s X 1,374,010,000& 1,374,010
= 647,580
= 63,000
Al 663,430
NGeadsa=2 JIgtXAd(=24]) 200,000 0 200,000
Xl 100,000
Al 100,000
402 BI2H X =20l M 200,000 0 200,000
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EE=
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SN HH-S(BN) - MBAY - B il HlnE2
Xl 100,000
Al 100,000
01 A=A EX 200,000 0 200,000
OIS AIEIEtEY 200,000, 000& 200,000
Xl 100,000
Al 100,000
EANSHE X 380,000 554,520 A 174,520
= 266,000
Al 114,000
402 RI2EX20| ™ 380,000 554,520 A 174,520
= 266,000
Al 114,000
02 BI2HCH & A& HI 380,000 554,520 A 174,520
OELMEH = 380,000, 000& 380,000
= 266,000
Al 114,000
I ELHEH EX 45,000 44,720 280
402 RI2EX=20| A 45,000 44,720 280
01 It AL E X 45,000 44,720 280
Ol=& ELME 45,000,000& 45,000
BEYSHE MUl 9,464 9,168 296
101 @14l 4,464 4,168 296
4 D12t ZE2XREES 4,464 4,168 296
onstdssZAH 4,464,000 4,464
206 T 24 5,000 5,000 0
01 =8l 5,000 5,000 0
onstd=sZA 5,000,000 5,000
s3ds=a 24 12,196 11,752 444
101 @124 Hl 6,696 6,252 444
04 JI2H22NEE 2 6,696 6,252 444
O=sdssa & X 6,696,000 6,696
201 Let2d] 5,500 5,500 0
01 At 22l 2,500 2,500 0
o&ddl 9| 2,500,000 2,500
02 8322l 3,000 3,000 0
O===2Z A A 3,000, 000& 3,000
ENYA 2 42,392 43,004 A612
101 1244 dl 18,392 24,504 N6, 112
4 DIt Z2XREES 18,392 24,504 A6,112
OXAHHLA 29 13,392,000 13,392
OXZZLZ SAANE 23 5,000,000& 5,000
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HM: MIES SE8E X4 (sdudllEdt/sY - 58)
S9l sellENY U BYRE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 et A | 3,000 5,500 A 2,500
01 AFR2t2ldl 1,000 5,500 A4,500
O YBt=gH| 1,000,000& 1,000
02 35249t 2,000 0 2,000
OSAANAE Azl 2,000,000& 2,000
206 M= Hl 6,000 13,000 7,000
01 & bl 6,000 13,000 AT7,000
OZXAUAL 29 3,000,000& 3,000
OZXHMAZE SAMANE Mz F 3,000,000& 3,000
402 QI2H X2 0| & 15,000 0 15,000
02 QI2HCH S AFS HI 15,000 0 15,000
OMAEZOs 7 3 X &
15,000,000& 15,000
EAXZFHA 29 8,020 5,020 3,000
201 L2 Y| 3,020 1,020 2,000
02 352494 3,020 0 3,020
OAEEHN Helyl 2,000,000& 2,000
O0s&J d&Hl 1,020,000 1,020
207 A 2 OH 4| 5,000 4,000 1,000
03 A& o 2| 5,000 4,000 1,000
OELHAFZA Mg *¢ 5,000,000& 5,000
Aostsded 6,000 6,000 0
206 M = dl 6,000 6,000 0
01 X2 bl 6,000 6,000 0
OXNHESE 29 2,000,000& 2,000
OMERNEE M+ 2,000,000 2,000
SEANY sUNEna 279
2,000,000 2,000
NSsHHEANE 29 59,096 49,652 9,444
101 @121l 6,696 6,252 444
04 JI2ZtH2ZXNEE S 6,696 6,252 444
O=sYMHLAL otA 2 6,696,000& 6,696
201 Bt A | 10,400 9,400 1,000
01 AP 2t 2l Yl 1,000 1,000 0
(@FI-Ixg=sll 1,000,000& 1,000
02 332494l 9,400 8,400 1,000
OZ2222=2L M Al 1,400,000 1,400
o=2atYE Azl 7,000,000& 7,000
OA&E&Hl st 1,000,000& 1,000




Ol =Dt
o«

D MBS sEEY X
DsYlENY 2 BY

SA BB O () - MM - HES il
206 M= dl 8,000 8,000
M= 8l 8,000 8,000
OSUMNLAL 29 HEPY 5,000,009 5,000
ONASHES ZQML AME 29 Ha 2
2,000,000& 2,000
ORd&EIAAEZ2Y 29 Mz 1,000,000& 1,000
2O 2 H| 16,000 16,000
A& S 2 16,000 16,000
OsYMEAL AEAPH 16,000, 000 16,000
AMEHI L2 18,000 10,000
A& HI 18,000 10,000
O=sYMEAL otRA E= 10,000,000& 10,000
OXHHLI SAANLE E= 8,000,000 8,000
2 22 22 381,048 338,647
101 12 dl 125,108 119,407
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